Eura		Variational method of solving fractional differential equation problems
Scientific leader: Karimov		shaxkarimov@gmail.com
Shakhobiddin		
Tuychiboyevich		
<b>Researcher: Saliyeva</b>		robiyaxonsoliyeva98@gmail.com
Robiykhan Abdukhalil qizi		
ABSTRACT	In this article, a new method for finding the solution of an integro-differential equation involving a fractional operator is proposed, with the help of which solutions of homogeneous and non-homogeneous equations are found. This method is based on the construction of a normal system of functions with respect to the fractional integro- differential operator.	
Keywords:		Variation of constant, Bernoulli's method, differential equations, algorithm, homogeneous

If it is required to solve a differential equation of first and fractional order, it is first necessary to check whether it is possible to separate the variables in this differential equation. If it is not possible to separate the variables in the differential equation, then the differential equation should be checked for homogeneity. In both cases, we know the algorithm for solving the differential equation.

If it is not possible to separate the variables in the first-order differential equation, as we mentioned above, and the equation is also not homogeneous, then in 90% of cases we may encounter a linear non-homogeneous first-order differential equation.

The general form of a linear inhomogeneous first-order differential equation is as follows:

 $a(x) \cdot y'(x) + b(x) \cdot y(x) = c(x)$ and the default view in this case  $y'(x) + p(x) \cdot y(x) = q(x)$  We will consider solving a linear inhomogeneous first-order differential equation given in the standard form in two different ways:

1. The method of variation of the constant.

2. Bernoulli's method.

The algorithm of the method of variation of a constant is as follows:

- 1.  $y' + p(x) \cdot y = \mathbf{0}$  a differential equation with separable variables is solved  $\Rightarrow$ y(x) = f(c, x) - a general solution is found.
- 2. Instead of **c** another u(x) x we put the function of  $\Rightarrow c = u(x) \Rightarrow$ y(x) = f(u(x), x), This is where the name of the method comes from-variation of a constant
- 3. y(x) = f(u(x), x) of  $y' + p(x) \cdot y = q(x)$ into the differential equation.

Note: After this focus, the equation should come to a differential equation where the variables are separated!

4. Solving the resulting differential equation with separable variables, we find u(x)

Example 1.  $y' + 2xy = x \cdot e^{-x^2}$ 

$$y' + 2xy = 0 \implies \frac{dy}{v} = -2xdx \implies \ln|y| = -x^2 + c \implies y = C \cdot e^{-x^2}$$

1.  
2. 
$$y = C \cdot e^{-x^2} \Rightarrow C = u(x) \Rightarrow y = u(x) \cdot e^{-x^2}$$

3.  $(u \cdot e^{-x^2}) + 2x \cdot u \cdot e^{-x^2} = x \cdot e^{-x^2} \Rightarrow$   $u \cdot e^{-x^2} + u \cdot (-2x) \cdot e^{-x^2} + 2x \cdot u \cdot e^{-x^2} = x \cdot e^{-x^2} \Rightarrow$ u' = x

4. 
$$u' = x \implies u = \frac{1}{2}x^2 + C$$

5. 
$$y = u(x) \cdot e^{-x^2} \implies y = (\frac{1}{2}x^2 + C) \cdot e^{-x^2}$$

BERNOULLI'S DIFFERENTIAL EQUATION.

As Bernoulli's differential equation,

$$y' + p(x) \cdot y = q(x) \cdot y^{o}$$

is referred to a differential equation of the form

As you can see, Bernoulli's differential equation resembles a linear non-homogeneous first-order differential equation in its structure. To determine whether a differential equation is a Bernoulli differential equation, the right-hand side involves the degree of y.

 $\alpha$  at the level of y is both positive ( $\alpha$ >0), negative ( $\alpha$ <0), and a fractional number

$$\left(a = \frac{1}{2} \implies y^{\frac{1}{2}} = \sqrt{y}\right)$$
 will be.

Bernoulli's equation can be given in different forms:  $r(x) \cdot y' + p(x) \cdot y = q(x) \cdot y^{a}$ 

$$r(x) \cdot y' + p(x) \cdot y = q(x)$$
  

$$r(x) \cdot y' + y = q(x) \cdot y^{a}$$
  

$$y' + y = q(x) \cdot y^{a}$$
  

$$y' + p(x) \cdot y = y^{a}$$

What is important is that the degree of y different than one is involved. When a>0, the solution y=0 is a particular solution of Bernoulli's equation.

Thus, the algorithm for solving Bernoulli's equation is as follows:

1. It is necessary to get rid of the  $\mathcal{Y}^a$  on the right. To do this, we divide both sides of the equation by  $\mathcal{Y}^a$ .

$$\frac{y'}{v^a} + p(x) \cdot y^{1-a} = q(x)$$

2. It is necessary to get rid of  $\mathcal{Y}^{1-a}$ , for this should be defined as  $\mathcal{Y}^{1-a} = Z$ .

3. 
$$z' = (1-a)\frac{y'}{y^a} \implies y' = \frac{y^a}{1-a}z' \implies \frac{1}{1-a}z' + p(x) \cdot z = q(x)$$

we arrive at a linear inhomogeneous 1st-order differential equation of the form We know the algorithm to solve it.

**Example 3.**  $\sqrt{1 - x^2} \cdot y' + y = \arcsin x \cdot y^2$ , y(0) = -11. You need to get rid of y on the right.

$$\frac{\sqrt{1-x^2} \cdot y'}{y^2} + \left(\frac{1}{y}\right) = \arcsin x$$

5. Expression of u(x) put in y(x) = f(u(x), x), we find a general solution. 2. It is necessary to get rid of y in the contoured adder, for this we perform a substitution.

$$z' = -\frac{y'}{y^2} \implies y' = -y^2 \cdot z' \implies -\sqrt{1 - x^2} \cdot z' + z = \arcsin x \implies \frac{1}{x^2} = -\frac{\arcsin x}{\sqrt{1 - x^2}}$$

 $z' - \frac{1}{\sqrt{1 - x^2}}z = -\frac{arcsinx}{\sqrt{1 - x^2}}$ As a result: we arrive at a linear inhomogeneous first-order differential equation from the Bernoulli differential equation. We know how to solve such equations.

## **CLERO DIFFERENTIAL EQUATION**

Description. to the differential equation whose coefficients are linear with respect to x and y and are functions of

$$F(y') \cdot x + Q(y') \cdot y + R(y') = \mathbf{0}$$

It is called the LAGRANGE DIFFERENTIAL EQUATION.

The algorithm for solving this equation is as follows:

A variable is substituted to find a general solution.

The differential equation becomes:

 $y = x \cdot f(\varphi) + \varphi(\varphi)$ 

$$f(\varphi) = -\frac{F(y')}{Q(y')}, \qquad \qquad \varphi(\varphi) = -\frac{R(y')}{Q(y')}$$

1) We differentiate this equation taking into account that

 $y' = p \implies dy = pdx$ 

$$dy = d(x \cdot f(\varphi) + \varphi(\varphi)) \Rightarrow pdx = f(\varphi)dx + x \cdot f'(\varphi)dp + \varphi'(\varphi)dp$$

2) If the solution of this differential equation, which is linear with respect to x, is x=F(p,c), then the general solution of the Lagrangian differential equation is:

$$\begin{cases} x = F(p,c) \\ y = x \cdot f(p) + \varphi(p) = F(p,c) \cdot f(p) + \varphi(p) \end{cases}$$

Description. to the following differential equation, whose coefficients are linear with respect to x and y and are functions of

 $y = x \cdot y' + \varphi(y')$ 

It is called CLERO DIFFERENTIAL EQUATION.

Clairo differential equation is a special case of Lagrange differential equation. The algorithm for solving this differential equation is as follows:

1) 
$$y' = p \implies y = x \cdot p + \varphi(p)$$
  
2)  $y' = p \implies dy = pdx \implies dy = d(x \cdot p + \varphi(p)) \implies$ 

 $y'dx = pdx + xdp + \varphi'(p)dp \Rightarrow pdx = pdx + xdp + \varphi'(p)dp$ 

We divide the last expression by dx

$$p = p + x \frac{dp}{dx} + \varphi(p) \frac{dp}{dx} \implies (x + \varphi(p)) \frac{dp}{dx} = \mathbf{0}$$

$$\begin{cases} x + \varphi(p) = \mathbf{0} \\ dp = \mathbf{0} \end{cases} \implies$$
First solution:  $dp = 0 \implies p = C \implies y = C \cdot x + \varphi(C)$ 

$$\begin{cases} y = x \cdot p + \varphi(p) \end{cases}$$

Second solution:  $x + \varphi'(p) = \mathbf{0}$  is formed by solving a system of parametric equations.

The resulting second solution F(x,y)=0does not contain an arbitrary constant and is not generated from the general solution by any value of C, so it is not a particular solution. Such solutions are special solutions (integral). Thus, the special solution of Clero's equation determines the line of inclination of the family of straight lines given by the general solution (integral), in other words, the attempt made to an arbitrary point of the special solution is also a solution of the differential equation. Clairo's differential equation is often used to construct 2nd-order curves in analytical geometry. Geometrical problems defining a curve in terms of its experimental properties lead to the Clairot equation. This property is specific to the attempt and not to the point being attempted. Actually the equation of effort is:

Y - y = y'(X - x) yoki Y = y'X + (y - xy')

It is determined by the relationship between any property of the experiment and:

 $\Phi(y - xy', y')$ 

If this equation is solved with respect to y=xy, exactly

 $y = x \cdot y + \varphi(y)$  We come to the Clero equation.

Example.  $y = x \cdot y' + (y')^2$ 

1)  $y' = p \implies y = x \cdot p + p^2$ 2)  $y' = p \implies dy = pdx \implies dy = d(x \cdot p + p^2)$ 

 $y'dx = pdx + xdp + 2pdp \implies pdx = pdx + xdpwe pass po the second equation$ We divide the last expression by dx

$$p = p + x \frac{dp}{dx} + 2p \frac{dp}{dx} \implies (x + 2p) \frac{dp}{dx} = \mathbf{0}$$
  
- this equation has two possible solutions.  
3)  
First solution:  
$$dp = 0 \implies p = C \implies y = C \cdot x + \varphi(C)$$

=0

The general integral (solution) of the Clairo equation forms a family of straight lines. Solution 2: the solution is found in parametric form from the system of equations:

by finding p from this system

$$\begin{cases} y=x\cdot p+p^2 \\ x+2p=0 \end{cases} =$$

$$p = -\frac{x}{2} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}\right)^2 = -\frac{x^2}{4} \quad \Rightarrow \quad y = x \cdot \left(-\frac{x}{2}\right) + \left(-\frac{x}{2}$$

The second solution does not contain an arbitrary constant and is not derived from the general solution by any value of C, so it is not a particular solution. Such solutions are special solutions (integral).



## Reference

- Articolo G.A. Partial differential equations and boundary value problems with Maple. – 2nd ed./ 2009, Elsevier Inc. - 733 p.
- Richard L. Burden and J. Douglas Faires. Numerical Analysis. Ninth Edition, Boston, USA, 2011. – 895 p.
- 3. L.Ridgway Scott. Numerical Analysis. Princeton University Press, 2011.- 342 p.
- 4. www.edu.ru; www.edu.uz; www.exponenta.ru; www.intuit.ru; www.ziyonet.uz; www.techlibrary.ru
- 5. Устройство для изучения тензочувствительности в фоточувствительных полупроводниковых пленках
- 6. МК Онаркулов, СМ Отажонов, КА Ботиров, Н Юнусов, ...
- 7. Universum: технические науки, 55-58, 2020
- 8. Ахмедов, М. М., Гайназарова, К. И., Кадыров, К. С., & Онаркулов, М. К. (2020). О ХИМИЧЕСКОМ СОСТАВЕ ТЕНЗОЧУВСТВИТЕЛЬНЫХ ПЛЕНОК НА ОСНОВЕ СИСТЕМЫ BI-SB-TE. Universum: технические науки, (2-1), 38-42.
- Кадыров, К. С., Онаркулов, К. Э., Онаркулов, М. К., & Юлдашев, Ш. А. (2020). ЭЛЕКТРОННО-МИКРОСКОПИЧЕСКИЕ

ИССЛЕДОВАНИЯ ПЛЕНОК НА ОСНОВЕ BI-SB-TE. In Экономическое развитие России: тенденции, перспективы (pp. 72-76).

- 10. Онаркулов Максад. (2021). Influence of the temperature and cyclic deformations of (BixSb1-x)2Te3 films on their resistance. Инженорно-Физический журнал. Беларусия, 94 (5), 1403-1408.
- 11. Онаркулов Максад. (2021). Influence of structure and composition on the strain sensitivity of films based on Bi-Sb-Te. Science and world. International scientific journal. Волгоград, 8 (96), 12-17.
- 12. Онаркулов Максад. (2021). Устройства для изучения тензочувствительности в фоточувствительных полупрводникых пленках. Физика полупроводников и микроэлектроника. Ташкент, 1 (1), 31-35.